
 

3614/(Set : C)           P. T. O. 

CLASS : 12th (Sr. Secondary)       Code No. 3614 
Series : SS-M/2018 

Roll No. 

jktuhfr'kkL=jktuhfr'kkL=jktuhfr'kkL=jktuhfr'kkL=    
POLITICAL SCIENCE 

[ Hindi and English Medium ] 

ACADEMIC/OPEN  

(Only for Fresh/Re-appear Candidates) 

Time allowed : 3 hours ]              [ Maximum Marks : 80 

• Ñi;k tk¡p dj ysa fd bl iz'u-i= esa eqfnzr iz'u 21 gSaA  

Please make sure that the printed question paper are contains 21 

questions. 

• iz'u-i= esa nkfgus gkFk dh vksj fn;s x;s dksM uEcjdksM uEcjdksM uEcjdksM uEcj rFkk lsVlsVlsVlsV dks Nk= mÙkj-iqfLrdk ds eq[;-i`"B 

ij fy[ksaA 

The Code No. and Set on the right side of the question paper should be 

written by the candidate on the front page of the answer-book. 

• Ñi;k iz'u dk mÙkj fy[kuk 'kq: djus ls igys] iz'u dk Øekad vo'; fy[ksaA 

Before beginning to answer a question, its Serial Number must be written. 

• mÙkj-iqfLrdk ds chp esa [kkyh iUuk / iUus u NksMsa+A 

Don't leave blank page/pages in your answer-book. 

• mÙkj-iqfLrdk ds vfrfjDr dksbZ vU; 'khV ugha feysxhA vr% vko';drkuqlkj gh fy[ksa vkSj 
fy[kk mÙkj u dkVsaA 

SET : C 
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Except answer-book, no extra sheet will be given. Write to the point and do 

not strike the written answer. 

• ijh{kkFkhZ viuk jksy ua0 iz'u-i= ij vo'; fy[ksaA 

Candidates must write their Roll Number on the question paper. 

• Ñi;k iz'uksa dk mÙkj nsus lss iwoZ ;g lqfuf'pr dj ysa fd iz'u-i= iw.kZ o lgh gS] ijh{kk ds ijh{kk ds ijh{kk ds ijh{kk ds 
mijkUr bl lEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAmijkUr bl lEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAmijkUr bl lEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAmijkUr bl lEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkA 

 Before answering the questions, ensure that you have been supplied the 

correct and complete question paper, no claim in this regard, will be 

entertained after examination. 

uksV %uksV %uksV %uksV % (i) lHkh ç'u vfuok;Z gSaAlHkh ç'u vfuok;Z gSaAlHkh ç'u vfuok;Z gSaAlHkh ç'u vfuok;Z gSaA izR;sd iz'u ds vad mlds lkeus n'kkZ;s x;s gSaA 

 (ii) iz'u Øekad 1 esa lksyg lksyg lksyg lksyg (i-xvi) oLrqfu"B iz'u gSaA izR;sd iz'u ,d,d,d,d-,d ,d ,d ,d vad dk gSA 
iz'u (i) ls (viii) rd cgqoSdfYid iz'u gSaA izR;sd iz'u esa pkj fodYi fn;s x;s gSa 
ftlesa ls lgh lgh lgh lgh fodYi dk p;u dhft,A iz'u (ix) ls (xii) rd izR;sd iz'u dk mÙkj 
,d 'kCn,d 'kCn,d 'kCn,d 'kCn esa nhft, rFkk iz'u (xiii) ls (xvi) rd esa fjDr LFkkuksafjDr LFkkuksafjDr LFkkuksafjDr LFkkuksa dh iwfrZ dhft,A 

 (iii) iz'u Øekad 2 ls 11 rd vfr-y?kwÙkjkRed iz'u gSaA izR;sd iz'u nksnksnksnks-nksnksnksnks vadksa dk gSA 
izR;sd iz'u dk mÙkj ,d,d,d,d ;k nksnksnksnks okD;ksa esa vFkok dqN 'kCnksadqN 'kCnksadqN 'kCnksadqN 'kCnksa esa gksuk pkfg,A  

 (iv)  iz'u Øekad 12 ls 19 rd y?kwÙkjkRed iz'u gSaA izR;sd iz'u pkj&pkjpkj&pkjpkj&pkjpkj&pkj vadksa dk gSA 
izR;sd iz'u dk mÙkj yxHkx 50 ls 60 'kCnksa esa gksuk pkfg,A 

 (v) iz'u Øekad 20 o 21 fucU/kkRed iz'u gSaA izR;sd iz'u NNNN%%%%&&&&N%N%N%N% vadksa dk gSA izR;sd 
iz'u dk mÙkj yxHkx 100 ls 150 'kCnksa esa gksuk pkfg,A 

 (vi) lHkh fuca/kkRed iz'uksa esa vkarfjd NwV miyC/k gSA ,sls iz'uksa esa ls vkidks dsoy ,d ,d ,d ,d 
gh iz'u djuk gSA 
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Note : (i) All questions are compulsory. Marks of each question are 

indicated against it. 

 (ii) Question No. 1 has sixteen (i-xvi) Objective Type Questions. Each 

question is of one mark. Questions from (i) to (viii) are multiple 

choice type questions. Each question carries four options, from 

which choose the correct option. Questions from (ix) to (xii) are 

one word answer questions and questions from (xiii) to (xvi) are 

related to fill in the blanks.  

 (iii) Question Nos. 2 to 11 are Very Short Answer Type Questions. 

Each question is of two marks. The answer of these questions 

should be in one or two sentences or in few words. 

  (iv) Question Nos. 12 to 19 are Short Answer Type Questions. Each 

question   is of four marks. The answer of each question should 

approximately be in 50 to 60 words. 

 (v) Question Nos. 20 & 21 are Essay Type Questions. Each question 

is of six marks. The answer to these questions should 

approximately be in 100 to 150 words each. 

 (vi) Internal choice is available in all essay type questions. You have 

to attempt only one of the given choice in such questions. 

[ oLrqfu"B oLrqfu"B oLrqfu"B oLrqfu"B iz'iz'iz'iz'u u u u ] 
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[ Objective Type Questions ] 

  1. fn;s x;s pkj fodYiksa esa ls lghlghlghlgh fodYi dk p;u djsa %    

 Select the right option among the given four options :  

 (i) LorU= Hkkjr esa igyk vke pquko gqvk Fkk % 1 

  ¼d½ o"kZ 1952 esa ¼[k½ o"kZ 1957 esa 

  ¼x½ o"kZ 1948 esa ¼?k½ o"kZ 1950 esa 

  The First General Election was held in independent India, in the 

year : 

  (a) 1952 (b) 1957 

  (c) 1948 (d) 1950 

 (ii) Hkkjr ds izFke iz/kkuea=h iafMr tokgj yky usg: dh e`R;q gqbZ %   1 

  ¼d½ ebZ 1964 esa ¼[k½ ebZ 1967 esa 

  ¼x½ ebZ 1962 esa ¼?k½ ebZ 1965 esa 

  The First Prime Minister of India Pt. J. L. Nehru died on : 

  (a) May 1964 (b) May 1967 

  (c) May 1962 (d) May 1965 

 (iii) vkikrdky dh ?kks"k.kk ds le; Hkkjr dk iz/kkuea=h dkSu Fkk \   
 1 
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  ¼d½ pkS0 pj.k flag 

  ¼[k½ Jh jktho xka/kh 

  ¼x½ Jherh bafnjk xka/kh 

  ¼?k½ Jh eksjkjth nslkbZ 

  Who was the Prime Minister of India at the time when emergency 

was declared ? 

  (a) Ch. Charan Singh 

  (b) Sh. Rajiv Gandhi 

  (c) Mrs. Indira Gandhi 

  (d) Sh. Morarji Desai 

 (iv) Hkkjr esa ^lEiw.kZ ØkfUr* dk vkàku fuEufyf[kr esa ls fdl usrk us fd;k Fkk \ 
  1 

  ¼d½ Jh eksjkjth nslkbZ 

  ¼[k½ pkS/kjh pj.k flag 

  ¼x½ Jh pk: etwenkj 

  ¼?k½ Jh t;izdk'k ukjk;.k 

  Who has introduced 'Total Revolution' in India ? 

  (a) Sh. Morarji Desai 

  (b) Ch. Charan Singh 
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  (c) Sh. Charu Mazumdar 

  (d) Sh. Jaiprakash Narayan 

 (v) turk ikVhZ dh ljdkj }kjk vkikrdky dh T;knfr;ksa dh tk¡p gsrq ^'kkg vk;ksx* dh 

fu;qfDr dc dh xbZ Fkh \ 1 

  ¼d½ ebZ 1976 esa ¼[k½ ebZ 1977 esa 

  ¼x½ ekpZ 1978 esa ¼?k½ twu 1979 esa 

  When was Shah Commission appointed by Janta Party 

Government to investigate the atrocities of emergency period ? 

  (a) In May 1976 

  (b) In May 1977 

  (c) In March 1978 

  (d) In June 1979 

 (vi) la;qDr izxfr'khy xBcU/ku (UPA) dk xBu dc gqvk \ 1 

  ¼d½ lu~ 1998 esa 

  ¼[k½ lu~ 1999 esa 

  ¼x½ lu~ 2004 esa 

  ¼?k½ lu~ 2009 esa 
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  When was United Progressive Alliance (UPA) organised ? 

  (a) In 1998 (b) In 1999 

  (c) In 2004 (d) In 2009 

 (vii) f}rh; fo'o ;q) lekIr gqvk Fkk % 1 

  ¼d½ 1939 bZ0 esa ¼[k½ 1941 bZ0 esa 

  ¼x½ 1943 bZ0 esa  ¼?k½ 1945 bZ0 esa 

  The Second World War was ended in : 

  (a) 1939 (b) 1941 

  (c) 1943 (d) 1945 

 (viii) fo'o O;kikj laxBu (W. T. O.) vfLrRo esa dc vk;k \  

1 

  ¼d½ 1 tuojh] 1995 dks 

  ¼[k½ 1 Qjojh] 1995 dks 

  ¼x½ 1 fnlEcj] 1994 dks 

  ¼?k½ 1 fnlEcj] 1995 dks 

  World Trade Organisation was came to existence in which year ? 

  (a) 1st January, 1995 
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  (b) 1st February, 1995 

  (c) 1st December, 1994 

  (d) 1st December, 1995 

 fuEufyf[kr iz'uksa ds mÙkj ,d 'kCn,d 'kCn,d 'kCn,d 'kCn esa nsa % 

 Answer the following questions in one word : 

 (ix) /kkjk 370 fdlls lEcfU/kr gS \  1 

  Article 370 is related to whom ? 

 (x) Hkkjr&lksfo;r la?k fe=rk lfU/k fdl o"kZ esa gqbZ \ 1 

  In which year India-Russia Friendly Treaty took place ? 

 (xi) fdl ny dk iwoZ lksfo;r la?k dh jktuhfrd O;oLFkk ij fu;U=.k Fkk \  

    1 

  Which party had controlled over Ex-Soviet Union Political System ? 

 (xii) 2001 esa fo'o O;kikj dsUnz ¼vesfjdk½ ij vkØe.k ds fy, mÙkjnk;h dkSu Fkk \ 

  1 

  Who was responsible for the attack on World Trade Centre 

(America) in 2001 ? 

 fjDr LFkkuksa dh iwfrZ djsa % 

 Fill in the blanks : 
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 (xiii) ebZ 2014 esa ikfdLrku ds iz/kkueU=h ………….. Hkkjr vk,A   

 1 

  ………….. Prime Minister of Pakistan visited India in May 2014. 

 (xiv)  ikfdLrku dh LFkkiuk dk eq[; dkj.k Hkkjr dk ………….. FkkA   1 

  ………….. of India was the main cause for the formation of 

Pakistan. 

 (xv) Hkkjr }kjk viuk izFke ijek.kq ijh{k.k lu~ ………….. esa fd;k x;k FkkA  

 1 

  The First Nuclear Test of India was done in the year ………….. . 

 (xvi) fo'o esa ………….. viuh lqj{kk ij lcls vf/kd /ku [kpZ djrk gSA  
 1 

  ………….. spends maximum money on its defence, in the World. 

[ vfrvfrvfrvfr-y?kwÙkjkRed y?kwÙkjkRed y?kwÙkjkRed y?kwÙkjkRed iz'iz'iz'iz'uuuu    ] 

[ Very Short Answer Type Questions ] 

  2. pquko ls vki D;k le>rs gSa \ 2 

 What do you mean by Election ? 

  3. vkikrdky ls D;k rkRi;Z gS \ 2 

 What is the meaning of Emergency ? 
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  4. lu~ 1971 dk pquko] dkaxzsl ikVhZ us fdl pquko fu'kku ij yM+k Fkk \ 2 

 On which Election Symbol Congress Party fought the Election of 1971 ? 

  5. iz/kkuea=h bafnjk xka/kh dh gR;k dc vkSj fduds }kjk dh xbZ \ 
2 

 When Prime Minister Mrs. Indira Gandhi was assassinated and who 

were responsible for it ? 

  6. Hkkjr esa mHkjrh {ks=h; vkdka{kkvksa ls gesa D;k lh[k feyrh gS \ 

2 

 What lesson we get from the emerging regional aspirations in India ? 

  7. f}&/kzqoh; fo'o O;oLFkk ls vkidk D;k vfHkizk; gS \ 2 

 What do you understand by Bi-Polar System ? 

  8. opZLo ls D;k vfHkizk; gS \ 2 

 What is meant by Dominance ? 

  9. ckaXykns'k dh LFkkiuk dc gqbZ \ bldk eq[; dkj.k D;k Fkk \ 

2 

 When was Bangladesh formed ? What was its main cause ? 

10. gesa vUrjkZ"Vªh; laxBu dh D;ksa vko';drk iM+rh gS \ dksbZ nksnksnksnks dkj.k crkb,A 2 
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 Why we are in need of International Organisation ? Give any two 

causes. 

11. Hkkjr dh lqj{kk uhfr ds dksbZ nksnksnksnks ?kVd crkb,A 2 

 Give any two elements of India's Policy of Security. 

[ y?kwÙkjkRed y?kwÙkjkRed y?kwÙkjkRed y?kwÙkjkRed iz'iz'iz'iz'uuuu    ] 

[ Short Answer Type Questions ] 

12. Hkkjr esa ;kstuk i)fr dks D;ksa pquk x;k \ 4 

 Why planning system was selected in India ? 

13. xqVfujis{krk dk D;k vFkZ gS \ blds eq[; mís'; crkb,A 4 

 What is the meaning of Non-alignment ? What are its main aims and 

objectives ? 

14. Hkkjr esa efgyk l'kfDrdj.k gsrq laoS/kkfud izko/kku dk mYys[k djsaA  4 

 Discuss the Constitutional Provisions in the context of Women 

Empowerment in India. 

15. Hkkjr dh xqVfujis{krk uhfr ds eq[; rÙo fyf[k,A 4 

 Write the main features of Non-alignment Policy of India. 

16. lksfo;r iz.kkyh dh dksbZ pkjpkjpkjpkj fo'ks"krk,¡ fy[ksaA 4 

 Discuss any four features of Soviet System. 
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17. Hkkjr rFkk ikfdLrku ds chp ruko ds dksbZ pkjpkjpkjpkj dkj.k nhft,A 4 

 Give any four causes responsible for the tension between India and 

Pakistan. 

18. ekuokf/kdkj dh pkjpkjpkjpkj izeq[k Jsf.k;ksa dk o.kZu djsaA 4 

 Describe four main categories of Human Rights. 

19. oS'ohdj.k dh dksbZ pkjpkjpkjpkj izeq[k fo'ks"krk,¡ fy[ksaA 4 

 Write any four features of Globalization. 

[ fucU/kkRed fucU/kkRed fucU/kkRed fucU/kkRed iiiiz'z'z'z'uuuu    ] 

[ Essay Type Questions ] 

20. jk"Vª&fuekZ.k ds ekxZ esa vkus okys ck/kd rRoksa dk o.kZu  dhft,A 6 

 Describe the obstacles come in the way of nation-building. 

vFkokvFkokvFkokvFkok 

OR 

 Hkkjr&foHkktu ds vPNs vkSj cqjs ifj.kkeksa dk o.kZu djsaA 

 Explain the good & bad consequences of Partition of India. 

21. oS'ohdj.k ds ldkjkRed i{k dk o.kZu djsaA 6 
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 Explain the positive aspect of Globalization. 

vFkokvFkokvFkokvFkok 

OR 

 oS'ohdj.k dk D;k vFkZ gS \ blds eq[; mís';ksa dk o.kZu djsaA 

 What is the meaning of Globalization ? Discuss its main aims & 

objectives. 

ssss     

 


